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• Part  1  :      How
&&

Part   2  :      Why
• This talk addresses a problem set in 

stationary planar curved space(cf );stationary planar curved space(cf.); 
• S.Deser, R.Jackiw and G. ’tHooft, “Three-

dimensional Einstein gravity: Dynamics ofdimensional Einstein gravity: Dynamics of 
Flat space” Ann.Phys.120,220(1984 )
G Cl “S i l i i h• G.Clement, “Stationary solutions in three –
dimensional general relativity”, 
I t J Th Ph 24 267(1985)Int.J.Theor.Phys. 24, 267(1985)
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Of these only        is easily evaluated as 1K
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with only the integration over q remaining. 
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The answer here is cumbersome to displayThe answer here is cumbersome to display 
but another example is 
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• And the final answer consists of two parts viz.
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• WithWith 
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Part 2 :             Some References:
• F.Antonsen and K.Bormann, “ Propagators  in 
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Consider the Lagrangian density
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one can choose the vierbeins as
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• for this set
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This makes the Schwinger expansion a power 
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The Schwinger expansion

and define after McKeon and Sherryand define after McKeon and Sherry 
PRD35, 3854 (1987)
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• The  Schwinger expansion is now worked from 
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Only three apparently non‐zero integrals 
contribute to the second order termcontribute to the second order term 

above namely,
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• one gets for the Schwinger expansion to orderone gets for the Schwinger expansion to order
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• The third order term in the Schwinger expansion is
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And, the easiest of them all to calculate being 
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